MAZ05 QUIZ 2 “Opportunity to Excel”
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2} Solve the following. For definite integrals setup FTC I1, but do not solve.
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MA205 Graded Homework #1 Due Tuesday 9 September 2008 IN-Class (25 Points)

Part A: Conceptual Knowledge (15 pts)-Neatness counts.

b If g(r) = f; v(t)dt, in your own words describe what g{(r)is if v(?) is the vertical velocity of an airborne

yearling parachuting to the ground in feet per second and ¢ is measured in seconds. Hint: We have only solved
problems in 2-D, so use what we know'
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2) In your own words, descmbe the FTC L Do not use formulas. Why is this important? Hint: Think of how +/-,

+/» are related. f '

3) What is the difference between the Net Change Theorem and the Fundamental Theorem of Calculus part I?
Provide an example Hint: Go with your first instinct. .,
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4) What is the d;fference ‘Detween an mdeﬁmte and deﬁmte mtegral‘? What do we expect to get from each?
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5) If we found the anti- derlvatlve of a function to be: sm(x) +C. Knswer the followmg What does C represent?
What do we need to find C 7 What does the complete anti-derivative sin{x) + € represent; provide a graphical
example of thxs antz-denvatlve for three d]fferent values of C, you choose‘? ) ‘
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1)} Suppose the velocity of a yearhng on the land navigation course during ITP this summer is given by v(t) =
—(t? — 8t — 20) feet per second, where t=0 seconds as the yearling starts the navigation course. Determine the
position function for any time ¢ that determines the yearling’s position for any time 7. Then compute the total
distance travelled after 20 seconds. Assume the land navxgatlon course is unrealistic and there is no vertical
displacement (2-D). j i gt s - 4 4 eLe fﬂ' caf wOEL f ?

44%
!

£
B

5
ggémw &

{,zw,/;f

o [ A S 7 BT & g uiE3
ToA=z (sin(p)+3)? v el ) A / W,W;M% g . - / oy, 5
.).Mv-ééj; L f ;;@{I? w},} i & Y f L Wg b 3‘ 4
= L8y
2 ”w
d. [7 (=210 ax - i
: T i 6 ‘ o
Jf -zl dx s

37T

e. [ Isin(a)} da

e




